Introduction to Software Design

C06. Parameter Passing,
Const Pointer & String, Struct

Yoonsang Lee
Spring 2019



About Final Exam

e As announced in the notice board,

— http://cs.hanyang.ac.kr/board/info_board.php?ptype=vie
w&idx=28900

 All students must take the final exam except those
who are allowed not to take the exam.


http://cs.hanyang.ac.kr/board/info_board.php?ptype=view&idx=28900

Topics Covered

Parameter Passing

Pointer to Constant & Constant Pointer

« Two ways of declaring C Strings

C Struct & Typedef

C Struct with Array, Pointer, Functions



int add(int x, 1int vy)
{

int temp;
temp = x + y;

return temp;

int main ()

int a =2, b

all gt x0l Al
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int res = add(a, b);

. temp?2| 2= resOil S At
printf ("%d\n", res);

return 0;

}
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void swapl(int nl1, int n2)
{
int temp = nt,
N = HZP num1dt n12 Bl K22 57t
’ o= CIE HH~
} num12| 2t 100] n10] BALE= 7
int main() mnﬁéﬂﬁﬁ¢ g 2E
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int num1=10, nu
swap1(numl, num2);

printf("%d %d",numl, num2);

return O;
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void swap2(int* p1, int* p2)
{

int temp = *pl;

xpl = *p2; num1Zf p12 HE ol O22| S57ZHof

’ Aol = =2 HA

2 = temp: , MEE= M2 OHE B
} num12| FAZHO| p10] EALE|=
int main() pl, p2= K9HTO|ER St 2=
{ O ELIH At2hgl,

int num1=10,"num2=20;
swap2(&num1, &num2);

printf("%d %d",numl, num2);

return O;

SHX|Tt p1, p27t 72| 7| = H2
*42 HAE K= HoIAS.
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void swapl(int nl1, int n2)

{

int temp = nt,

nl = n2;
n2 = temp,
}
int main()
{

int num1=10, num2=20;
swap1(numl, num2);

// num==10, num2==20
return O,
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void swap2(int* pi,

{

—

int

int* p2)

int temp = *pl;
*p1 = *DZ;
*p2 = temp,

main()

int num1=10, num2=20;
swap2(&num1, &num2);
// num==20, num2==10
return O,
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Call-by-value vs. Call-by-reference
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C & Python Examples

« C * Python

#include <stdio.h> def addOne (v) : def addOne (v) :
v[0] += 1 v += 1

void addOne (int* pl)

{ numl = [10] numl = 10

}

*pl += 1;

int main ()

{

int numl=10;

addOne (&numl) ;

printf ("%d\n", numl);
return 0O;

11

addOne (numl)
print (numl) #

[11]

addOne (numl)
print (numl) # 10

« Pythonll OIX+ &
referencect = ¢l C}.

gt Al 2 call by object

« Mutable object(0l: list)= parameterJt
M 82 argumentE referot 4 (JF2l3H)
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Immutable object(0il: int, str)= LHE=
=, N == objectE

Ot = 1) parameterJt 0| 24 = referstCt

(Jtel210H).




Quiz #1

* Go to https://www.slido.com/
* Join #isd-hyu
* Click “Polls”

« Submit your answer in the following format:

— Student ID: Your answer
— e.g. 2017123456: 4)

* Note that you must submit all quiz answers in the
above format to be checked as “attendance”.


https://www.slido.com/
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scanf(“%d”, &num);

scanf() 2= CHO||A] == 5Hof| M A El H=E nume| L&
E%QWH%M_q—ﬁ ME 6@mmy
referenceZ simulationSt= YA S AE S 4= 840 1 3.

Ol &2 =|X 2 = T EHSt= pointer parameter= out
parametergtd £ 27| 3}



EOEE const2 MAUSHE HHHH
(Pointer to Constant)
Int num = 20;

const int* ptr = &num;

o O}X|TFnum HZE AN E A

num = 30,
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ZOEE const2 AMAUASHE= HEH 5
(Constant Pointer)

int numl = 20;

int num2 = 30;

int* const ptr = &numl;

« HOIE W= ptr2 &= RHEC

e —ptro| #t=2 HEY 5 QICt

« —ptrO| CtE HEE 7127|258 HAS 5= gl

ptr = &um2; // 2= of 2!

o OFX|BFEQIE 7} 7t2|7|= B0l /2 HEo= A2 7t
xptr = 30; // =4 glo] €= 3 A=
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e const int* ptr = &num;
£ QtE &= Z40]| of4,
ZOIE| 7t 7t2|7| = H2| 4= H

 int* const ptr = &num;
- XQUE S g2 US.
- ZQIEZ}ICIE HEE 712|7| 25 HEAE = A



C Example

#include <stdio.h>
int main ()

{

int numl = 20;
int num2 = 30;
const int* ptrl = &numl;
int* const ptr2 = &numl;

const 1nt* const ptr3

snuml; / /O ¢

*ptrl = 30; // Y= ofg!

numl = 30; // =X glo] = 3 AllE
ptr2 = &num2; // 2HE oz

*ptr2 = 30; // =M glo] €= 3 AMAF

// const int* constZ MAEF ptr3= ptr3 AMALl gL

st ol gt Bid 2F FSEX| Zech.
ptr3 = &num2; // = ofg]!
*ptr3 = 40; // HE o3

return 0;
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* char strl[] = “My String ;

- char@ HIE = —'?—X} ,_1 Of WIS str
e stri: —E—X|‘ '|X‘” |—E M|y S|lt|r|i|n]|g]|\O
b =

- Your String\O0

e const char* str2 = “Your String/

. const chard ZOIH 2 &X}IY
= M
e str2: H 22| O{El7H0f| A& E|
O U= =X (string literal) 2
AERIX[E 72| 7|2 e =
QIE
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* char strl[] = “My String”;
. “Hl% HEfo| X}
. Byl 2t @ A0 MM 2

EUHE= +87ts

» const char* str2 = “Your String/

. <A YEo| BAHY-

o« HE2[0 XEFE[O U= string
literal = 7t2|7|= Z9IHE EX}
g +H ETS
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A% HEfO| 2AHE

const char* str2 = “Your String”;
> 0220 M&E 2[5 E “Your String” 8| A|&FAT}
str20f| A& =ICt

— Oy 2t “Your String” 0] 10266 H X[ 0f| M & O| &[0 QC}H, Of2f
o 2 Aoz SAfSICH

— const char* str2 = 10266

str2= Pomter to ConstantO| 7| I 20| L= 0f CHE Z At
HO| AR FAZ HH L= Z40| 7hsSFLF

str2 = “string2”;
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C Example -

#include <stdio.h>
int main ()

{

char strl[] = "stringl";

Python 2| string (str 24 Xll)2

H 23 2 J}s (immutable) 8t
string literal2 Jt2l2/ Ct=
ZTH0U A Co &= SEH
= K& (const char*) 2t

S AOHCHY = == QUL

return 0O;

const char* str2 = "string2";

/) Sdet galoz Z=0| Jts

printf ("%s %s\n", strl, str2);

// strl = "stringll"™; // Y©E of&!
CHE 2= il =+ |ich

str2 = "string22";

printf ("%s %s\n", strl, str2);

strl1[0] = "X';

//str2[0] = 'X'; // HE o2 -
(const char*) 2 Hoo HAste{ D A|EH7| O

printf ("%s %s\n", strl, str2);
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Quiz #2

* Go to https://www.slido.com/
* Join #isd-hyu
* Click “Poll”

« Submit your answer in the following format:

— Student ID: Your answer
— e.g. 2017123456: 4)

* Note that you must submit all quiz answers in the
above format to be checked as “attendance”.


https://www.slido.com/

B 2IEYE P42 WY o

+ printf(“Age: %d\n”, num);

» HZ22|0f MEE 2[HE “Age: %d\n”2| A ZrFAT}
printfQ| CIAtZ2 M & EICT,

— O) Bt “Age: %d\n"0| 10633HX| 0| M & O| T[O{QUCHH,
orgfiet €2 Ao = SAITIL}

— printf(10633, num);,

« 12{A constchard EQIEH 2 H=C}
 Int printf ( const char * format, ... );



EOIE{ 9| const A 0| Zt= o|O|

* Int printf ( const char * format, ... )

e« ->printf & HEO|M formate = MEH2 2
XtEe| |85 "t X| 2= ZAO|LC}

 void swap ( Int* pl, int* p2)
» ->pl0| 7}2|7|= B9| ¢, p27t 7t2|7| = &
4-0f gho| B4 Lol M HZE Zo|ct

- g= A= Y@SH2E 9|0



S Aag W, g oM MEE= Heo 2
HFSIX| pb= BF (read-onlyQl 32),

CIREZF intLf doubled 2 7|2 At B2 ' H=E
= XNChSlH g

L
Ol 42, const char* L} const Point* A& const Z QI E{
S MEol= A0 v &g

volid printString(const char™ str)
volid printPoint(const Point™ p)



T+ ZH| (struct)
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struct point

- (300, 400) {
int xpos;

int ypos; }:rl—jl(—xﬂ T H
}i
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y HLH 2t



T XX (struct) | = cr2 o

struct person

{
char name[20];
char phone[20];
int age;
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pos1.xpos = 20; | / #=H = pos12 HE xpostf 208 MZ




C & Python Examples

« C

* Python

#include <stdio.h>
struct point

{
int xpos;
int ypos;
};

int main ()

{
struct point pl, p2;
// pll ®IXe DEWM LS
pl.xpos = ;
pl.ypos = ;
// p28 RAXN= MENZFH = 23
scanf ("%d %d", &p2.xpos, &p2.ypos);
/) & B 9AX B
printf("pl: %d, %d\n", pl.xpos, pl.ypos);
printf("p2: %d, %d\n", p2.xpos, p2.ypos);

return 0O;

# PythonUlAM Gl A= 2

class& At&otH &l L.

# Pythonfl classc=

HHANEZ, Otc D&

class Point:

def init (self):

self.xpos = 0
self.ypos = 0

=
-

[

(-

= Point ()
Point ()

10
20

.Xpos =
. YPOSs

.Xpos =
. YPOSs

int (input())
= int (input())
print('pl:
print('p2:

o° o°

d, 2d'%$(pl.xpos, pl.ypos))
d, 2d'%$(p2.xpos, p2.ypos))




typedef

» typedef: O|0] ZMot= X =2F 0 MZ=2 0|
O = O“___l'

typedef unsigned int UINT;

// unsigned int At2 0| UINTEl= O|E= FIIE 20F

UINT count;  //unsigned int count; 2 sk A0

typedefE BOlkl= A= e| O|F= Of
HO|CH (REMAM 7[& Ar2H2l O] F 1t



typedef} T+ XA

struct point

{

int Xpos; // Ol F+=NZF S Y

Int ypos,;
};

struct point posl; // 1 7&K EfRC| H= M

typedef struct point Point; | // typedef= struct point01| Point2f

= MZ2 0|52 05T

Point posl; | // § HSHA =K BHz= MR0| 7Hs S|t




typedef@l +Z=H| ALEol= 02| BHSE

struct point typedef struct point
{ {
int Xpos; Int Xpos,
int ypos,; Int ypos,
}; } Point;
B St A O
typedef struct point Point; OIEH & w2 X
O|&A dBt= L. typedef struct
{
Int Xpos;
Int ypos;
} Point;

O|&A & = UL} (F=H Of

S MEts)

T

=
a



TN 2] 7|9}

typedef struct - L
{yp xpos=10, ypos=202| #4f= %= Point EI 2]
int xpos; Hypls TS,
int ypos,;
} Point;
x7|3 2|AE
Point p1, \
o1.xpos = 10; or |Point p1 = {10, 20};
p1.ypos = 20,

Hlw) B €| &=7|3t wAln 5 ¢ int arrl[5] = {1, 2, 3, 4,




C Example

#include <stdio.h>

struct point
{
int xpos;
int ypos;
i
typedef struct point Point;

// ot F K| HAE siE A
//typedef struct point

a

// int xpos;
// int ypos;
//} Point;

//typedef struct

v

// int xpos;
// int ypos;
//} Point;

int main ()

{
Point posl;
posl.xpos = 10;
posl.ypos = 20;

// ofelel drAlo = &= SHHX}
// Point posl = {10, 20};

printf ("posl: %d, %d\n", posl.xpos,

return 0O;

posl.ypos) ;




M| Hi B

- N Al O —
typedef struct ° E(pomt%:)l I:Il_:l_l_)E 47H Dl_l-E—Tl— él!
{ CtH»
int xpos; |- L
int ypos,

1 Point:  — Point arr[4];

arr[O] arr[1] arr[2] arr[3]
int xpos | int xpos | int xpos | int xpos
/ int ypos |intypos |intypos \{nt ypOs

arr[0].xpos / \‘ arr[2].xpos

arr{0].ypos arr[2].ypos




C Example

#include <stdio.h>
typedef struct
{
int xpos;
int ypos;
} Point;

int main ()
{
int 1i;
Point points[5];

/) AMEXE ZHEE AY 4H
for (1i=0; i<5; ++1)
scanf ("%d %d", &points[i].xpos,
//// for FEZ2 A==z zE oH
//for (1i=0; 1i<5; ++1)
//{
// points[i].xpos = 1ij;
// points[i].ypos = 1*2;
//}
/) BE Mo XEE £
for (i=0; i<5; ++1)
printf (" [%d] %d %d\n", i, points]|
points[i] .ypos);

return 0O;

i]

&points[1i

. Xpos,




TZM B B2l =73}

int arrl[5] = {1,

e LXK X7|3} |Point p1 = {10, 20};
P

« HiEOo| x7|=

- TN HIE2 =V}

Point points[4] = {
{1,1},
{2,2},
{3,3},
{4,4},
H




TN EZQIE] H4QF > AHLEX}

Point pl = {1, 2};

Point* ppl &pl;
(*ppl) .xpos = 10; // ppl0l Jteldle= B2 BH xposl &2
(*ppl) .ypos = 20; // pplOl Jieldl= BH=2 HH yposll &2

// S PSS Otefet 20l & = ULt

ppl->xpos = 10; // ppl0l Ji2dl= B2 HH xposl 2
pp2->ypos = 20; // ppl0l Ji2dl= B2 HH yposll &2

“>" HARLE T BHO| 29




C Example

#include <stdio.h>

typedef struct
{
int xpos;
int ypos;
} Point;

int main ()

{

Point pl = {10, 20};
Point* ppl = &pl;

printf ("%d $d\n", pl.xpos,
// ofell M Z&E2 BEF =ot
//pl.xpos = 100;

// (*ppl) .xpos = 100;
ppl->xpos = 100;

printf ("%$d $d\n", pl.xpos,

return 0O;

pl.ypos);

A22E o

—

rn

pl.ypos);

Cf




Quiz #3

* Go to https://www.slido.com/
* Join #isd-hyu
* Click “Poll”

« Submit your answer in the following format:

— Student ID: Your answer
— e.g. 2017123456: 4)

* Note that you must submit all quiz answers in the
above format to be checked as “attendance”.


https://www.slido.com/
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TN Wy A o QIXE HE & 225 H BH2HE o UL

0f[) void prlntPomt(Pomt P)

/178 po| &S 2t HO| ZHot= g

PointgetScaIerPoint(Point p)

o p2l x,y Zt&0f| 25 &t DB S 7HK= S 2lHote g

Y1) FEH HHE Beo| Y

222 B const +2M* Etie 2 TESHC N 2 H EICH
Point getScale2xPoint(const Point* p)
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gh4 QIR T Al Zto| HAL- 0| 7

Point getScale2xPoint(Point p)
{  piEPpL Eo| ymal 27h| A

Point p_new; ME= ME CHE H
P_NEw.XpoS = P.XpoS * 2; p12| 2= HHO| Z}0| pOf EALE]
D_NEeW.ypos = P.ypos * 2; = A.

return p_new; ‘

} p_new® p2= HEOo| 22| 7t
| i L= MZ CHE Has

INnt main o =

{ ! p_new?| BE HEO| Zt0| p20| =

= 7
Point p1 = {1 AEl= A,

Point p2—= getScaIerP0|nt(p1)
printf("%d %dn", p2.xpos, p2.ypos);
return 0;




Sh4 QIR HE Al 2O ZAL- S0 2

void scale2x(Point* pp)— |

{ p12| FAZL0] ppll EALE.
PP—>XPOS *= 2; FAE o 2ot 20 p12]
PP—>YypoS *= 2; HH == T8 7t

}

int main()

{

Point p1 =
scale2x(&p1);
printf("%d %dn", pl1.xpos, pl.ypos);
return O,




C Example

#include <stdio.h>
typedef struct

{
int xpos;
int ypos;
} Point;

Point getScaleZ2xPoint (const Point* p)

{
Point p new; void printPoint (Point p)
P _new.xpos = p->xXpos * 2; {
P _new.ypos = p->ypos * 2; printf ("%d %d\n", p.xXpos,p.ypos);
return p new; }
}
int main ()
void scale2x (Point* pp) {
{ Point pl = {1,2};
pp->xpos *= 7; Point p2 = getScale2xPoint (&pl) ;
pp->ypos *= 2; scale2x (&p2) ;
} printPoint (pl) ;
printPoint (p2) ;
return 0;
}




TEN HeS 22 7ttt At

- CO| 7|2 Xt&d (int, char §)2 +, -, >, < & L}
Yot G14H0| Ths

O L L

o TN H=0f CHSHM = =(CH I H 4,
&(address-of @4, sizeof Y =0 AR 7Hs

. =(CHYAAHO| O BE HHZtS BA}



C & Python Examples

¢« C

* Python

#include <stdio.h>

typedef struct
{
int xpos;
int ypos;
} Point;

int main()

{
Point pl = {1,2};

Point p2;

p2 = pl; // C AN B0 YHM2
PE HUHSO =S SASHC.

p2.Xpos = / et p2 Y S

; /
HEN T pl WH=S AUHZ0|C.

$d sd\n", pl.xpos, pl.ypos);
d sd\n", p2.xXpos, p2.ypos);

printf ("pl:
printf ("p2:

return ;

class Point:
def 1init (self, x, y):

self.xpos = x
self.ypos = vy

pl = Point (1, 2)

p2 = pl # Python class

objectl HYHALEZ p2It pl1idt &2

objectE Jte|I|H &tCt.

p2.xpos = 10 # LetM p2

dHegls HPEoH p12 gits BHIECL.

print('pl: %d, %d'%$(pl.xpos,
pl.ypos))
print('p2: %d, %d'%$(p2.xpos,
p2.ypos))




Next Time

 Labs in this week:
— Labl: 1A 11-1
— Lab2: 1A 11-2

* Next lecture:
— 12-C07. More about Array & Pointer, Preprocessor



